PICNIC TABLE INSTRUCTIONS  SMITH

ILLUSTRATION A

: 48" y
<—10"—)
7\
7\
\
\ o/
| 5/16" X 3/4”
Mounting Bracket \ /‘ Carriage Bolt
N SN\ U~y
181

5/16" Nyloc Nut

Assembly Instructions:

1.Place the 8' table top upside down on the grass or a
blanket to protect the surface.

2.S5ee”ILLUSTRATION A" for detailed guidance on
using the 5/16" nuts and bolts along with the
mounting brackets to secure parts to the table top
at the specified dimensions.

3.Attach the center support bracket to the table top at
the specified location.

4.Secure the table leg ends to the table top according
to the specified dimensions.

5.Bolt the 41.5" center bar between the table leg ends
and the center support bracket.

6.Attach the 8-foot seat to the table legs at the
indicated points. Be sure to tighten all nuts and
bolts securely.

NOTE: Ensure all nuts and bolts are fully tightened.
Mounting brackets are designed to snugly secure
against the legs when properly fastened.




TOOLS REQUIRED

1) 1/2" Socket and Socket Wrench
1/2" Box End/Open End Wrench

2) Tape Measure
(2

PARTS LIST
ITEM QTY PART NUMBER
1 2 Table Leg End
2 1 8' Table Top
QJ 3 2 8 Foot Seat
4 2 41.5 Inch Center Bar
e 5 1 Center Support Bracket
6 24 Mounting Bracket
For video instructions on picnic table 7 28 5/16" x 3/4" Carriage Bolts
assembly, please follow this link. 8 28 5/16" Nyloc Nuts




